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KV/10= kv = 9505 x (zj)”. (-12035,9) x (z,’% 57345 (
oo, oo 0o

0121

+(12885) x (20 144,59 x (20)°+ (7.099) x (20) + 01325

(KV = kv x 10)

KvV=121 @




750DN 15 (1/2)-A (1B
Kv=121

kv=(121:10)=

POS}10 = pos = 1344,99 x (0,121)° + (-1785,016) x (0,121)°

121

-

+896,4754 X (0,121)* + (-201,41631) x (0,121)°
+15,871321 x (0,121)7+ 1,1402068 x 0,121 + 0,038045 = 0,201
(POS = pos x 100)

POS =20 ©

POS = £ (KV)
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COMAP 7518 : Kv, f (DN, POS)




KV =£(pOS)

K= a(POS +b (BOS|+ ¢ (ROS)+ d (POS)+ e (ROSF+ 1 (RO:
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751 B - DN 200

KV}30= kv = 0. (0,120)°+ 6738782 x (0,120)° + (-3250254,955) x (0,120)*
+536407,3497 x (0,120)° + (-33746,3433) x (0.120)2 + 1002,0966
%0120+ (6,13) = 48.9
(KV=kvx 10)
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KV =489
kv=489:10=489

psssiot- POS/10 = pos = 0 x (48,9)° + (6,28E-10) x (48,9)° + (-1,41624E-07) x (48,9)"

+ (-1,25852E-5) x (48,9 + (-0,000525178) x (48,9
+0,011397628 X 48,9 + (-0,018374074) = 0,120
(POS = pos x 100)

POS =12,0 ©
POS = £ (KV)

Z;S*A(K\/) .b‘&) 33

Ref.7518/7508
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1750 DN 15 (1/2”)

KV = v = 32539866.44 X (A'H (9918664.744)x )+ 1118156.78 x (i)‘
o b o b

+(/57850,531) x i"uas;,szzsx irq—u‘zﬁz)x(‘i)‘c,cszs 43657
% % ]

(KV =kv x 10)

KV =437 @




T =a [KV)%p (kY% KV‘oaLV)k (KV’uL\/)o
o2 ()"0 (58] (3] o <li) b3 -
Ref. 1750, 1751, 1752, 1753
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1750 DN 15 (1/2")

KV =437

=339,99564 x (‘ 37)”* (-452,88221) X “ 37 )s’ 22816053 x (437)*
i To g

+(51,4245) x [a‘:n)% 4,08222 x ‘Am)h 028371 x (A,:n)’ 0,00732 20,004
0 0 o

(T=1x 100)
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	Válvula de equilibraje, cuerpo en bronce rosca interior



